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SECTION 1
Time—-30 minutes
38 Quedtions

1. Wefirgt became aware that her support for the new
program was less than---- when she declined to
make aspeech in itsfavor.

(A) qudified

(B) haphazard
(O flesting

(D) unwarranted
(E) wholehearted

2. When aperson suddenly loses consciousness, a
bystander is not expected to ---- the problem but to
attempt to - its effects by darting vitd functions
if they are absent
(A) cure.. precipitate
(B) minimize.. predict
(C) determiine.. detect
(D) diagnose.. counter
(BE) magnify.. evaluate

3. Theremark wasonly dightly -—-, inviting a
chuckle, perhaps, but certainly not a ----.
(A) audible.. reward
(B) hodtile.. shrug
(C) amusing.. rebuke
(D) coherent.. reection
(E) humorous.. guffaw

4. Doors were dosing on our padt, and soon the vaues
we had lived by would become so obsolete that we
would seem to people of the new age as----as
travelers from an andient land.

(A) degant

(B) ambitious
(C) interegting
(D) comforteble
(B) quaint

5. Ahility to ---- isthe test of the perceptive historian,
ahigory, after dl, conggsnot only of what the
higorian has induded, but o, in some sense, of
whet has been |ft out.

(A) defer
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(B) select
(©) cortfer
(D) devise
(E) reflect

6. Someatigsimmodedly idedlize or exaggeratethe
significance of their work; yet others, ---- to exalt
the role of the artigt, reject atranscendent view of art
(A) appearing
(B) disdaining
(C) s=eking
(D) failing
(B) tending

7. Edimating the risks of radiation escaping froma
nudlear power plant is---- question, but one whose
answer then becomes part of avaue-laden,
emotiondly charged policy debate about whether to
condruct such aplant.

(A) anincomprenensible
(B) an undefined

(C) anrrespongible

(D) adivisve

(E) atechnicd

8. TREE: FORESTRY::
(A) tractor: agriculture
(B) experiment: laboratory
(C) fud: combusgtion
(D) flower: horticulture
(E) generator: dectricity

9. COMMAND: REQUEST
(A) presume inquire
(B) recommend: propose
(C) summon: invite
(D) refuse: rebel
(E) authorize: permit

10. PESTLE: GRIND::
(A) whetstone: sharpen
(B) baloon: float
(C) mill: turn
(D) hinge: fasten
(E) switch: conduct
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11. ILLITERACY: EDUCATION
(A) buresucracy: darification
(B) oppression: agreement
(C) vagrancy: travd
(D) inequiity: redigtribution
(E) indemency: evasion

12. REVERENCE: RESPECT::
(A) reslliency: vitdity
(B) appreciation: dependency
(C) avidity: enthusasm
(D) imagination: crestivity
(E) audacity: sentiment

13. APOSTROPHESWORD
(A) letters: dphebet
(B) verbs syntax
(C) dlipses sentence
(D) commes. punctuation
(E) paragrephs: essay

14. EXAGGERATION: CARICATURE:
(A) creft: art
(B) detail: ketch
(© illusion: gory
(D) brevity: epigram
(E) sophitication: farce

15. MALLEABLE: SHAPE
(A\) gpathetic: emation
(B) irresolutes opinion
(C) demongrable: evidence
(D) irredeemable: vdue
(E) gudtetory: tadte

16. BOLSTER: SUPPORT::
(A) axis revolve
(B) spackle: paint
(C) leskage: caulk
(D) hest: insulate
(E) tackle: hoigt

Gedloggs Haris and Gass hypathesized thet the Red
Saarift devdopad dong thelinedf asuiure (agliceinthe
Eathis aut) formed during thelate Praterozaic &g, and
thet Sgnificant obsavable differencesin thecompasition of
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(S)the upper layers of rocks deposited on éither sided the

suuregveduesto the different netures of theundarying
igneousrocks

Other gedlogigsargued thet naither the upper rock layer
nor theunderlying igneousrocks on theoneside df therift

(10)differ fundementaly from the corresponding layersonthe

ather Sde Thesegedlogidshdieve, therefore, thet thereis
inedequete evidence to condudethat asuture undaliesthe
rift.

In reponse, Harris and Gass assarted that the upper rock

(15)layerson thetwo Sdes of therift had not bean showntobe

of smilar agg, sructure, or geochamicd content. Furthar-
more, they dted new evidence thet the undarlying igneous
rockson dther sdedf therift contan Sgnificantly different
kinds of rare metals.

17.Pat of the Harris and Gass hypothesis about the Red

Searift would be weskened if it could be demondrated

that the compodtion of upper rock layers

(A) cannot cause asuture to develop

(B) has no effect onwhere a suture will occur

(C) cannet provide information about the nature of
underlying rocks

(D) isgmilar on thetwo Sdes of arift unlessasuture
dividesthetwo Sdes

(E) isusudly different from the composition of
underlying rocks

18.1t can be inferred from the passage that the "Other

geologigts' (line 8) would be mogt likely to agree with

which of the following statements?

(A) Smilar geologicd festuresdong both sidesof a
possible suture imply the existence of that suture

(B) Sutures can be discovered only where they are not
obscured by superimposed geologicd festures.

(C) The compodtion of igneous rocks permits pre
diction of thelikdihood of arift developing
through them.

(D) Itis possible to date igneous rocks by carefully
studying the different kinds of rare metds
contained in them and by observing their smk
larity to the layer of rock that lies above them.

(E) The exigtence of rock layers on one side of arift
thet are Smilar in composition to rock layerson
the other Sde suggests that no suture exigts
between thetwo Sdes
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19.1t can be inferred from the passage that Harris and

Gass have done which of the following?

(A) Drawn detaled diagrams of the Red Searift.

(B) Based their condlusions on the way in which
sutures develop in the Earth's crugt.

(C) Relected other geologists objectionsto their
hypothes's about the Red Searrift.

(D) Suggested that the presence of rare metdsin
rocks indicates an underlying suture.

(E) Asserted that rifts usudly occur dong the lines
of sutures

20.According to the passage, Harris and Gass have
mentioned dl of the following properties of rocks
dong the Red Searift EXCEPT
(A) age of the upper layers of rock
(B) structure of the upper layers of rocks
(C) geochemicd content of the upper layers of rocks
(D) metdlic content of the underlying igneous rocks
(E) age of the underlying igneous rocks

Proponents of different jazz syles have dways argued
that their predecessors, musicd yledid not include
essentid characteridicsthat define jazz asjazz. Thus,
1940's swing was bdlittled by beboppers of the 1950's,

(5)who were themselves attacked by free jazzers of the
1960's The necboppers of the 1980sand 1990's attacked
dmog evarybody dse Thetitanic figure of Black saxo-
phonig John Coltrane has complicated the arguments mede
by proponents of styles from bebop through neobop

(10)becauein hisoan musicd joumey hedrew fromal those
syles. Hisinfluence on dl types of jazz wasimmessurable
At theheight of his populaity, Coltrane largdy abandoned
playing bebop, the Syle that had brought him fame, to
explore the outer reaches of jazz.

(15) Cdtranehimsdf probebly believed thet the only essantid
charataidtic of jazz wasimprovisgion, the one congtart
in hisjoumey from bebop to openrended improvistionson
modd, Indian, and African mdadies Ontheather hend,
thisdogoed sudent and prodigious technidan—who

(20)indgted on gpanding hourseech day practiding Scdles from
theory bodkswias never ebletojettison completdy the
influenceof bebop, withitsfaet and daborate chains of
notesand amamantson mdady.

Two Sylidic charadteridics sheped theway Cdltrane

(25)played the tenor saxophone, hefavored playing fest runs

of natesbuilt on amdody and depended on heavy, regu-
larly accented bedts Thefirgt led Cdtraneto "shegs of
sound:" where he reced fegter and fedter, pile-ariving notes
into each ather to uggest sacked harmonies Theseoond

(30)meant thet hissanse of rhythmwasdmost asdosetorock
asto babop.

Three recordingsillustrate Caltranes enargizing explor-
aions Reoording Kind of Buewith MilesDavis Coltrane
found himsdf autside bop, explaring modd mdodies Here

(35)he played surging, lengthy solos il largely around
repedied matifs-an organizing prindple unlikethet of
freejazz saxophone player Omette Coleman, who modu-
lated or dtered mdodiesin hissolos On Giant Seps
Cdltrane debuted as leedr, introdudng hisown compos-

(40)tions Herethe shedts of sound, doanbet acoants repe-
titions, and grest Joeed are part of eech lo, and the
vaidy of thehepesof hisphrasssisunioue Coltranes
searching explorations produced solid achievement. My
Favorite Thingswasanother kind of watershed. Here

(45)Caitrane played the soprano saxophone, anindrument
sddom ussd by jazz musdans Muscly, theresdtswere
agtounding. With the soprand's piping sound idessithet hed
sounded dark and brooding acopired afeding of giddy
fantasy.

(50)  When Cdltranebagan recording for the Impulse! Iabd,
heweasdill ssarching. Hismusic becamerraucous, physicd.
Hisinfluence on rockerswas enormous induding Jmi
Hendrix, therodk guitais, whofdlowing Cdltrane raisd
the extended quitar solo using repested matifsto akind of
rock art form.

21.The primary purpose of the passage isto

(A) discussthe place of Coltranein the world of jazz
and describe hismusicd exploraions

(B) examine the nature of bebop and contragt it with
improvisdiond jazz

(C) andyzethe musicd sources of Coltrangs style
and their influence on hiswork

(D) acknowledge the influence of Coltranes music on
rock music and rock muscians

(E) discuss the arguments that divide the proponents
of different jazz qyles

22.The author implies that which of the following would
have been an effect of Coltrane's having chosen
to play the tenor rather than the soprano saxophoneon
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My Favorite Things?

(A) Thetone of the recording would have been more
omber.

(B) Theinfluence of bebop on the recording would
have been more obvious

(C) Themusic on the recording would have sounded
lessraucousand physicd

(D) Hisinfluence on rock music might have been less
pervasive.

(E) The style of the recording would have been
indistinguishable from that on Kind of Blue

23Which of thefdllowing best desribesthe organization

of thefourth paragrgph?

(A) A thesisreferred to earlier in the passageis
mentioned and illustrated with three specific
examples

(B) A thedsis dated and three examples are given
each suggesting that a correction needsto be
mede to athessreferred to earlier inthe
passege

(©) A thessreferred to earlier in the passageis
mentioned, and three examples are presented and
ranked in order of their support of the thess.

(D) A thesisis dtated, three seemingly opposing
examples are presented, and their underlying
correspondence is explained

(E) A thesisis stated, three dissmilar examples are

conddered, and the thesis is restated.

24 According to the passage, John Coltrane did dl of the

following during his career EXCEPT

(A) improvise on melodies from anumber of different
cultures

(B) perform asleader aswell as soloist

(C) spendtimeimproving histechnicd ills

(D) experiment with the sounds of variousingruments

(E) diminate the influence of bebop on his own music

25.The author mentions the work of Ornette Coleman in

thefourth peragreph in order to dowhich of thefdlowing?

(A) Bxpand the discusson by mentioning the work of
asaxaphone playe who played in Coltranes
Syle

(B) Compare Coltrane's solos with the work of
another jazz artig.
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(C) Support the ideathet rationd organizing principles
need to be gpplied to artistic work .

(D) Show theincreasing intricacy of Coltrane's work
after he abandoned bebop

(E) Indicate disagreement with the way Coltrane
modulated the matifsin hislengthy solos.

26.According to the passage, amgor difference between

Caltrane and other jazz muscianswasthe

(A\) degree to which Coaltrane's music encompassed
al of jazz

(B) repetition of motifs that Coltrane used in his solos

(C) number of hisown compositionstha Coltrane
recorded

(D) indifference Coltrane maintained to musica
technique

(E) importance Coltrane placed on rhythm in jazz

27.Interms of itstone and form, the passage can best be

characterized as

(A) dogmétic explanation
(B) indignant denid

(C) enthugadtic praise
(D) speculaive sudy

(E) lukewarm review

28. RECORD

(A) postpone
(B) disperse
(C) ddete
(D) delay
(BE) devise

20. EMBED

(A) induce
(B) extend
(©) extract
(D) receive
(E) diverge

30. WHOLESOME

(A) ddeterious
(B) submissive
(C) provoking
(D) monaotonous
(E) rigorous
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31. EXTINCTION:
(A) immunity
(B) mutetion
(C) inhibition
(D) formulation
(E) perpetuation

32. CURSE:
(A) exoneration
(B) untruth
(C) redress
(D) benediction
(E) separetion

33. DECORUM
(A) congtant augterity
(B) fase humility
(C) impropriety
(D) incompetence

(E) petulance

34. AGGRANDIZE:
(A) misrepresent
(B) disparage
(©) render hdpless
(D) teke advantage of
(E) shun the company of

35. VIGILANT
(A) reluctant
(B) hephazard
(©) gullible
(D) ignorant
(E) oblivious

36. FASTIDIOUS
(A) coarse
(B) destructive
(C) willing
(D) collective
(E) secret

37. TRACTABLE
(A) indefetigable
(B) incorrigible
(©) insdtidble

(D) imprecticd
(E) impetuous

38. RESCISSION
(A) expanson
(B) enactment
(C) indtigation
(D) gimuletion
(E) ebdication
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Thecirdle dove with center O hasaradiusof 5

7. y «/E

A government program paid out $20,000 to each of 60,
000 families.
8.Thetotal amount $1.2 10°

that the program paid
out to the families

x and y each represent single digitsin the decima 4.3«y8.
When the decimd is rounded to the nearest hundredth, the
result is 4.36.

9. X 5

In  ABC, AB=6,BC= 8 and CA=105

SECTION 3
Time—-30 minutes
30 Quedtions
1
5is — of x
5
1 X 1
2. A number whose square 15
is 4 less then twice the
square of 10
Nx-1=4
3 X 17
|45 ff =+
A o T
10t
201 - l
E
T
5lft
F 1
A 0
4. The areadf region 150 sofft
ABCDEF
2X=x+1
5 X y
x10
6. — 2X

10. Themeasure of angle ABC a9
4° - 4*
11 PR 1
12 Thedandard devidtion The gandard devidion
of the sample measure of the ample measure
ments0, 1,24, 8 ments 1,2,35,and 9

P,Q and R are didinct points on agraight ling, with Q
between P and R, Sisapoint not ontheline, and QR =
Qs

13. PR PS
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=]
13
A 25 ©
14. The area of triangular 225
region ABC
r
15. t* —
1,000

16. Diane completed each of her exercise setsin 75 seconds
and rested for 55 seconds between the exercise sets
What istheratio of the amount of timeit took her to
complete an exercise st to the amount of time she
rested between the sets?

(A) 56

(B) 511
© en
(D) 115
(B) 116

17. A catain car gets 20 miles per gdlon of gasolinefor city
driving. If the car gets 15 percent more miles per gdlon
for highway driving, how many miles per gdlon does

the car get for highway driving?

(A) 17

B) 22

© =

(D) 0

B 35
g Z
A o

18. In the figure above, the area of the shaded square region
iswhat percent of the area of the square region ABCD?

2
A) 16—=%
(A) 370

1
B) 12—%
(B) >

(©) 12%
(D) 8%%

(E) 8%

19. The cogt of sending a package specid delivery is x cents
per ounce up to 10 ounces and y centsfor each ouncein
excess of 10. Which of the following representsthe
total cog, in cents, of sending special ddivery a
package weighing w ounces, if w> 10?

(A) x+ (w-10)y +10
(B) x+(w-10) +y
(C) 10x+ 10(w-y)
(D) 10x+ y(w- 10)

(B) 10x+wy
20. All of the following are equivaent to a- EXCEPT

(A) M
C

®) M
-C

(C) - a-_b
-C

(D) - u
C

© b-a

-C

117



GRE10-5

Quedtions 21-25 refer to the following graph. In answering these questions, assume that the male and female populations are

equd for each of the years shown.
LIFE EXFECTANCY AT BIRTH IN THE UHITED STATES
“f'ear of Birth 75
%
I:I Male /fremae g T4E ?
”%.“‘ a0 ] 71.1 7 ] 701
il 652 634 66 £ 6Tl |
o o 16 |
= 616 o . A
& B0 1 581 [
= g ]
o 518 A
o 50 1 483 484
o kR
Wi #6.3
2
— a0 ¢
1300 1310 15920 1830 1340 1350 1360 1570 1320
21. For which of thefollowing years was the difference © 1
between the life expectancy a birth for maes and thelife 2
expectancy a hirth for females the least? ) 1
(A) 1900 3
(B) 1910 ® 1
© 1920 4
(D) 1930 24. Which of the following satements can beinferred from
(E) ®40 the graph?

22. The average(aithmetic mean) life expectancy a birth for
aperson born in 1980 was gpproximately how many
more years than for a person born in 19007
A) 20
B 22
© 24
(D) 26
(B) 30

23. Thelife expectancy & birth of amaebornin 1900 is
closest to whet fraction of the life expectancy a birth of a
meale born in 19807

(A)

(B)

win wld

For each year shown, the life expectancy e birth

was gregter for femaes than it was for maes
Theincresse in the life expectancy at birth for maes
was gregter from 1940 to 1980 than it was from
1900 to 1940.

For each year shown, the difference between the life
expectancy a birth for maes and thet for femdes
was gregter than the corresponding differencein the
preceding year shown.

only
and only
and  only
ad  only
and

(A)
(B)
©
(D)
® .

25. From 1900 to 1980, life expectancy a birth for maes
increased by approximately what percent?

(A) 24%
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(B) 34% A) 1
(C) 40% 4
(D) 51% ® 3
(E) 66% 4
4-
© =2
o 2
261f 7<x<«/§mdmsmmteger,thmxcmha/e 4-p
Dy ——
how many different values? ®) 4
p-2
(A) Three © 4
(B) Four
(C) Five 30. Which of the following CANNOT be afactor of 2 and
(D) Eight 3/ ,wherei andj are positive integers?
(E) Ten
(A) 6
27. For which of thefollowing expressonsisthe vaue for x (B) 8
=0equd tothevdueforx=17? © 27
A) X (D) 42
X+1 B A
x-1
BY ——
(B) 1
©2x-1
D)x (x-1) +x
(B)x(x-1) +1

28. It the average (arithmetic mean) of X, y, z, 5, and 7is 8,
which of thevauefor x =1?
| The median of the five numbers cannot be 5
Il At leet one of X, y and z is gredter than 9
[l The range of the five numbersis 2 or more
(A) I only
(B) Il only
© 1l only
(D) land
® Nandll

/

29. Asshown in the figure above adircular flower bed liesin
asguare garden plot thet is 60 meters on each Sde. What
fraction of the garden plot areais not part of the flower
bed?
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SECTION4 year areidentical to the growth rings of any
Time—-30 minutes other treefdled in that year
25 Quedtions (D) The oldest of the ancient buildingsthat survive
to the present day were congtructed of the most
1. The universty's condtitution defines the powers of durable woods
two governing bodies  Thegenerd council, which (E) Ancient builders did not use more than onetype
currently retains authority over congtitutional matters, of wood for the congtruction of agiven
conggsof al the university'slivingdumni The building
twenty-member senate decides routine matters by
majority vote A new proposd suggests making a Quedtions 3-8
unanimous vote in the senate sufficient to changethe
condtitution A ressarcher has designed an experiment to evduate a
theory about the hedlth benefits of exercise & differ-
If the Satements above are true, which of the fol enttimesduringtheday Ninesubjects—F G, H, J K,
lowing must follow on the basis of them M, O, P, and S—must be divided into three groups of
(A) The proposd will take effect only if it recaives three subjectseach  Group 1 will exercisein the morning;
the senate's unanimous support group 2 will exerdsein the afternoon; group 3 will exer-
(B) Currently each member of the senate has power dseintheevening Theresearcher must assign subjects
of veto over any proposd thet comes before to groups according tothe following conditions
that body
(C) Adopting the proposal would dlow passage of F must be assigned to group 2
congtitutional changes without the generd H must be assigned to the same group as O
coundil's gpprovd Jcannat be assigned to group 2
(D) Any of the university'saumni can fill any one M cannot be assigned to group 3
of the twenty seets on the senate P cannot be assigned to the same group as S
(E) Adopting the new proposd would increese the
voice of the dumni in the conduct of 3.Which of the following is an acceptable assgnment
univergty affairs of subjects to the three groups
Groupl Group?2 Grou
2.Comparison of the growth rings of ancient trees AFM,P H,JO GK,S
enables stientigts to determine from a piece of tim- B)G,IM FH,O K,PS
ber the year in which the tree used for thetim- ©O©GK,P FM,S H,J 0
ber wasfelled Hence, by andyzing the growth rings (D)H, I M FEGP K,O 'S
in timber surviving from ancient buildings, archaeolo- (BEH,O,P FGJ K,M,S
gigs can determine precisely when those buildings
were congructed 41f H, J, and O are assigned to group 1, which of the
following must be assgned to group 2
Which of the following is an assumption on which (A)G
the argument depends (B) K
(A) The timber used for congtruction purposesin (C) M
ancient times was made from very old trees D) P
(B) The timber that was used in ancient building ®Ss
congruction had not, prior to being used inthe
condruction of the buildings, lain unused for 5.f Oisassgned to group 2,which of the following
an indeterminable amount of time could be the subjects assigned to group 1
(C) Thegrowth rings of any treefelled in agiven A)G I M
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B) G, K,M
©GK,P
(D)IM,S
B M,PS

6.f G, Jand M are assgned to group 1, which of the
following must be assigned to group 2
(A)H
(B)K
©o
(D)P
BSs

7.1f G, K,and Sare assgned to group 1, which of the
following must be the subjects assgned to group 3
(A)F,H O
(B)H,J O
©OH,IP
D)IM,P
B M,0OP

8If G, Jand P are assigned to group 1, which of the
following must be true
(A) Hisassgned to group 3
(B) K isassigned to group 3
(C) Misassigned to group 3
(D) Olisassgned to group 2
(E) Sisassigned to group 2

9.Fosslized anima bones marked with scratches other
than tooth marks were discovered in the sand neer
some stonetools  When bones were scratched using
smilar toals, the resulting scratches resembled the
sratichesfound onthefossils  Therefore, gonetools
hed probably been used on the animd bones thet
became fossilized

Which of the fallowing, if true, most serioudy under-
mines the argument
(A) Thefosslized boneswith scratchesarenot asold as
nearby fosslized bones found to have
tooth marks
(B) Trampling on sand in which aboneis buried
produces scratches on thet bone thet are similar
to those on the fossils
(C) Stone toals have been found in aress where nearby
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fossilized bones were not scratched

(D) The gonetools were too hard to be scratched by
animd bones

(E) Modern microscopes can dearly reved the dif -
ferences between tooth marks and other kinds
of scratches

10.Color-tinting of movies origindly photographed in

black-and-white is ingppropriate  Hundreds of the
origind artigtic choices would have been made
differently had these movies been filmed in color
Lighting on the sets of these movies was arranged
to make highlights and shadows ook right in
black-and-white

Which of thefollowing claims, if subgtituted for the

claim about the lighting of movie sets, would lend

the same type of support to the argument above

(A) Animportant part of what gives these movies
ther idertity isthe result of the black-and-
white format

(B) Color film would have better captured the film-
mekers intentions

(C) Cdlor film is superior to black-and-white film
for making movies

(D) Makeup for the actors was gpplied 0 asto look
begt in black-and-whitefilms

(E) The choice of black-and-white film over color
filmis entirdy a metter of taste

11.In Borkland, university scholarship stipendsworth

4.2 million were uncdlaimed last year because severd
scholarship programs atracted no gpplicantswho met
the programs qudifying criteria  Thisis an egregious
wagte of fundsin a country where thousands of
promising students each year cannot afford tuition
Qualifying criteriafor those scholarships, therefore,
should berevised

Which of thefollowing, if true about Borkland, most

strongly supports the conclusion drawn above

(A) Many scholarships are unclaimed not because
their quaifying criteriaare too redtrictive but
because the scholarship programsrardy
announce the scholarships availability

(B) Because of inflation, the stipends offered by
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certain scholarship programs now appear less
atractive to potentid gpplicants than they did
when they werefirg offered

(©) A ggnificant number of scholarship programs
awarded al of their availddle scholarship
dipends last year, yet most of thase programs
have very regtrictive quaifying criteria

(D) Certain scholarship programs accept gpplications
only from sudents enrolled in specific mgor
fidds of sudy, but Borklands universtiesno
longer offer courses in the fidds spedified by
many of those programs

(E) Severd scholarship programs have found it
impossibleto revisetheir qudifying criteria
without engaging in lengthy and codtly legd
proceedings

12.In Diersville the new Environmenta Action party

won two segts on the sevenr-member town counail in
1988 It logt both of those seetsin the 1992 dection,
even though the party’s pro-environment platform had
essertidly remained unchanged  Thisdeclinein the
party's fortunes clearly demondratesthat in Diersville
environmenta concerns faded in Sgnificance between
1988 and 1992

Which of thefallowing, if true most serioudy weskens

the argument

(A) Between 1988 and 1992, the number of digible
votersin Diersvillerase, but not the percentage
who actudly voted

(B) Between 1988 and 1992, Diersvilles leading
political party revised its platform, adopting
agrongly environmentaist stance

(C) The patiesthat ran candidatesin the 1992 dec-
tion in Diersville were the same as those that
hed done so in the 1988 dlection

(D) In 1992 the Environmenta Action party won
fewer votesin Diersville then it had won in
1988

(E) Between 1988 and 1992, some measures intended
to benefit the environment had been adopted
by the town coundil, but withincondusive
results

Quedtions 1317

A gardener islandscaping part of afront yard with Sx
types of bushes—forsythia, hally, lilac, oleender, rose,
andspirea  The forsythiaand the lilac bushes are the only
bushes dassfied astdl bushes  The gardener will plant
two clusters of exactly four bushes each, one on the east
edge of the property and one onthewest edge The
sdection of the bushesis subject to the following
congraints

Each type of bush must be used &t leest once

Each dudter of bushes must contain at least onetall
bush

A dugter that indudes one or more forsythia bushes
must include &t least one oleander bush

A lilac bush cannat be planted in the same dudter as
aspireabush

13.If three lilac bushes are selected for one dudter,
which of the following can be the bushes sdlected for
the other cluster
(A) Forsythia, hally, oleander, rose
(B) Forsythia, hally, rose, spirea
(C) Forsythia, lilac, oleander, pirea
(D) Forsythia, oleander, rose, spirea
(E) Hally, oleender, rose, spirea

14.Which of the following can be the sdlection of bushes
for one of the dudters
(A) Forsythia, holly, oleander, rose
(B) Forsythia, holly, oleander, spirea
(C) Forsythia, lilec, rose, rose
(D) Forsythia, oleender, oleander, oleander
(E) Lilac, lilec, rose, spirea

15.f atotd of two forsythia bushes is selected, which of
the following must be true
(A) Only one hally bushis sdlected
(B) Only one rose bush is sdected
(C) Only one spireabush is sdected
(D) Two oleander bushes are sdected
(E) Thetwo forsythiabushes are in the same duster

16.If one rose bush is selected for eech dudter, which of
the following combinations must complete one of the
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duders

(A) Forsythia, forsythia, oleander
(B) Forsythia, lilac, oleender

(C) Forsythia, oleander, spirea
(D) Hdlly, hally,hally

(E) Hally, lilac, dleander

17.1f oneforsythiabush is sdected for the east cludter,
and if two holly bushes are selected for the west
dugter, then any of the following can be sdlected for
the eest cluster EXCEPT
(A) hally
B) lilac
(©) deander
(D) rose
(E) snirea

Quedions 18-22

A balroom dance competition will be held between two
teams, the Greenteam and the Red team  The Green team
consss of couple H, couplel, and couple K  The Red
team condgts of couple X, couple Y, and couple Z
During the competition, eachteam will perform three
types of dances—thefox-trat, the tango, and the wdtz
Each couple on each team will perform exactly one of the
three types of dances At any onetime, only one couple
will be performing, but the Sx couples can performin
any order until al dances have been performed  The
following rules dso gpply to the competition

The sametype of dance cannot be performed twicein
succession

Couple H cannat dance the watz

Couple | cannot dance the tango

Couple Y mugt dancethe wdtz

18.If couple K dances afox-trot, which of thefollowing
couples mugt dance atango
(A)H
(B)!
X
DY
(S

19.Which of the following could be the schedule for the

competition'sfirg three dances
Fox-trot Tango  WaAltz

(A)H [ Z
(B) K I
(© X z
D)Y K
(B) Z H

< — I <

20.If the competition schedule gtrictly dternates couples
on the Green team with couples on the Red team, and
if couple Y dances fourth, then awaltz must be per-
formed
(A) first
(B) second
(©) third
(D) fifth
(E) sixth

21.If thethird through the sixth dances in the competition
are the fox-trat, the tango, the waltz, and the tango,
respectively, then couple X can parformin any of the
following postions EXCEPT
(A) first
(B) second
(©) third
(D) fourth
(E) sixth

22 Assume that the order of the couples, from firgt to
gxth, hesbeen edeblished as X, Y, Z, H, I, add K If
couple X performs afox-trot, which of thefollowing
couples mugt dso perform afox-trot
(A)H
B)!
©OK
DY
Bz

23.The United Satesis not usudly thought of asa
nation of parakeet lovers  Yet inacenausof parakest
ownersin sdected comparable countries, the United
States ranked second, with eleven parakeet owners
per hundred people  The conclusion can bedrawn
from thisthat people in the United States are more
likely to own parakeets than are people in most other
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countries

Knowledge of which of the following would be most

useful in judging the accuracy of the conclusion

(A) The number of parakeetsin the United States

(B) The number of parakeet ownersin the United
Setes

(C) The number of parakeet owners per hundred
peoplein the country that ranked firgt in the
cenaus

(D) The number of parakeet ownersin the United
States compared to the numbers of owners of
other pet birdsin the United States

(E) The numbers of parakeet owners per hundred
people in the countries not included in the
cenaus

24.Until 1984 only aspirin and acetaminophen shared
the lucrative nonprescription pain-reliever market

In 1984, however, ibuprofen was expected to account
for fifteen percent of al nonprescription pain-reliever
sdes  Onthat bassbusness experts predicted for
1984 a corresponding fifteen percent decreasein the
combined sdles of aspirin and acetaminophen

The prediction mentioned in the last sentence above

was based on which of the following assumptions

(A) Mogt consumers would prefer ibuprofen to both
aspirin and acetaminophen

(B) Aspirin, acetaminophen, and ibuprofen dl relieve
headache pain and muscular aches, but aspirin
and ibuprofen can aso cause somech irritetion

(C) Before 1984 ibuprofen was avalable only asa
prescription medicine

(D) The companies that manufacture and sdll aspirin
and acetaminophen would not dsomanufacture
and sl ibuprofen

(E) Theintroduction of ibuprofen would not increase
total sales of nonprescription pain reliever
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Quedtions 25 is basad on the fallowing graph.

AVEFAGE PEE CAPITA YEARTY
EARMNING: FOE TWi POPTILATION
GEOURS IN THE COUNTEY OF ANSONLA

30t
0"
10§ Tl

1975 1980 1285 1220

Thosands of Ansonian Dollars

— Ansomians with at least a college degree

- - — Ansonians with a high school diploma only

Which of the following, if true, uttersthe best explanation for

the growing digparity in the eaming levds of thetwo groupsin

the graph presented ebove

(A) Since 1985 there hes been adedinein the tatd number of
Ansonianswho have only ahigh schod diploma

(B) Since 1985 the percentage of Ansonianswithout acollege
degreawho are unemployed has remained relatively
condant

(©) Govarmean finendd uppart for educationd ressarchin
Ansoniahesdeclined Snce1985

(D) Theanadment of generous sodid seaunity legidation by the
Ansonian parliament hesdlowed many Ansonianswith
only ahighsthod dplomatordirea full dary & age63

(BE) Thedhftin Ansoniafromanindudrid to asaviceeconony
hesresited in anet loss of high-paying jobs treditiondly
avalableto Ansonianswith only ahigh schod diploma
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SECTIONS
Time—-30 minutes
38 Quedtions

1. Because modern scientigts find the ancient Greek
view of the cosmos outdated and irrdevant, they
now perceiveit as only of --------—- interest.

(A) higtorica

(B) intringc

(C) agtronomicd
(D) experimentd
(E) superfluous

2. Rdigious philosopher that he was. Henry More
derived his conception of an infinite universe from
the Infinite God in whom he believed, a benevolent
Gad of -----—- whose nature wasto cregte---------
(A) plenitude ..abundance
(B) vengeance .. judtice
(©) indifference .. suffering
(D) indulgence .. temperance
(E) rectitude .. havoc

3. While some argue thet imposing tolls on highway
users circumvents the need to raise public taxes
for road maintenance, the phenomend expense of
maintaining avast network of roads------rdiance
on these generd taxes.

(A) avoids

(B) diminishes
(C) necessitates
(D) discourages
(E) andiorates

4. Although they were nat direct------ the new arts of
the Classcd period were dearly crested in the spirit
of older Roman modds and thus------many features
of theolder gyle
(A) impressions .. introduced
(B) trandations .. accentuated
(C) copies... maintained
(D) masterpieces .. depicted
(E) borrowings .. improvised

5. In spite of theincreasing-------- of their opinions, the
group knew they had to arrive a a consensus o thet
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the award could be presented
(A) impartidity

(B) consggtency

(©) judiciousness

(D) incisveness

(E) polarity

6. By forcing our surrender to the authority of the clock

systemiic timekeeping has imposed aform of-----—-
onsodidy.

(A) anarchy

(B) permanence

(C) provincidism

(D) tyranny

(E) autonomy

7. Our high-------vocabulary for street crime contrasts

sharply with our-—---vocabulary for corporate crime,
afact that corresponds to the generd public's unawar-
eness of the extent of corporate crime.

(A) nuanced ..subtle

(B) uninformative ..mideading

(C) euphemidtic ..abgract

(D) differentiated ..limited

(E) technicd ..jargortladen

8. DIVERGE : APART::

(A) traverse : across
(B) sugpend : around
(C) reverse: beyond
(D) repose: besde

(B) invalve : among

9. ATROCIOUS : BAD::

(A) excessve : adequate
(B) momentous : important
(©) unavailing : hdpful
(D) contagious : diseased
(E) nomind : stisfactory

10.PATRONIZE : CONDESCENSON::

(A) exasperate : anger

(B) deride : mockery

(C) compensete : gpology
(D) hurry : decision

(E) encroach : fearlessness
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11.FANG : TOOTH::
(A) gum : mouth
(B) dbow : am
(C) bank : river
(D) finger : digit
(E) summit ; mountain

12 ANALGESIC: PAIN::
(A) sedaive: deep
(B) dimulant : mood
(C) antiseptic : odor
(D) anesthetic : sensation
(B) ointment : skin

13IMPECCABLE : FLAW::
(A) foreseegble : outcome
(B) mundane : substance
(C) dishonorable : blemish
(D) ingenuous : guile
(E) portentous : omen

14POLEMIC : DISPUTATIOUS:
(A) anechronism : chronologica
(B) vernecular : unpretentious
(C) invective : abusve
(D) platitude : insghtful
(B) eulogy : unredigic

15.EMBARRASS: SHAME:
(A) coax : rductance
(B) deep : fatigue
(C) doubt : uncertainty
(D) belittle : condescension
(E) console: comfort

16.ETCH : CORROSVE:
(A) shrink : diminutive
(B) dedtroy : worthless
(©) dlue: adhesive
(D) sculpt : mdlegble
(B) pdlish: glossy

A specid mucous coating thet serves as achemicd
camouflage dlows down fish to live among the deadly
tentacles of the unsuspecting seaanemone . Utterly
dependent on this unlikely host for protection from

(5)predators, clown fish have evolved in isolated commu
nities, a pattern thet hasled to unusud behaviord
adgptations.
Therigidly defined hierarchy of each down-fish
community is dominated by a monogamous breeding pair
(10)condding of thelarges fish, afemde, and the next largest
amadle, attended by afixed number of sexudly immature
fishrangingin sizefrom largeto tiny. A remarkable
adeptetion isthat the devdopment of these juvenilesis
somehow arested until the hierarchy changes; then they
(15)crow in lockgep, maintaining their relative Szes. While
the community thus economizes on limited goace and food
resources, life isrisky for newly spawned down fish. On
hatching, the hundreds of larvae drift off into the plankton.
If, within three weeks, the defensdess larvad down fish
(20)locates a auitable anemone(either by pure chance or per-
heps guided by chemicals secreted by theanemone), it may
aurvive. However, if an anemoneisfully occupied, the
resdent down fish will repd any newcomer.
Though advantageous for esteblished community mem-
(25)bers the sugpended and staggered maturation of juveniles
might seem to pose a danger to the continuity of the
community: thereis only one successor for two breeding
fish. Should one of apair die, the remaining fish cannot
swim off in search of amate, nor isone likely to arrive. It
(30)would sseminevitable thet reproduction must sometimes
haveto hdlt, pending the chance ariva and maturation of a
larvd fish of the gppropriate sex.
This, however, turns out not to be the case. In expert
ments, vacancies have been contrived by removing an
(35) egtablished fish from acommunity. Elimination of the
bresding mdetriggersthe prompt maturation of thelargest
juvenile. Each remaining juvenile aso grows somewhd,
and aminuscule newcomer dropsin from the plankton
Removd of the femde dso triggers growth in dl
(40yremaining fish and acceptance of anewcomer, but the
femdeisreplaced by the adult mae. Within days, the
maes behavior dters and physiologicd trandformetionis
complete within afew months. Thus, whichever of the
breeding pair islog, arddivdy large juvenile can fill
(45)thevoid, and reproduction can resumewith aminimd loss
of time. Furthermore, the new mate has dreedy proved its
ability to survive.
Thistrandformation of amde into afemde, or pro-
tandrous hermaphroditiam, israre among reef fish. The
(50)more common pratogynous hermaphroditism, where
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femaes change into maes, does not occur amang clown
fish. An intriguing question for further research iswhether
ajuvenile down fish can turn directly into afemde or
whether it must function firs assamde.

17.The passageis primarily concerned with

(A) andyzing the mutually advantageous relaionship
between two species

(B) comparing two forms of hermgphroditism among
clown fish

(C) describing and explaining aspects of clowntfish
behavior

(D) outlining proposed research on clownHish
reproduction

(E) attempting to reconcile inconsistent observations
of clown-ish development

18.1t can be inferred from the passagethat the clown fish

isableto survivein close asodiation with the sea

anemone becausethe

(A) seaanemone cannot detect thepresence of the
clown fish

(B) tentacles of the sea anemone cannot grasp the
dippery clownfish

(C) seaanemone prefers other prey

(D) dlown fish does not actudly comewithinthe
range of the sea anemonestentacles

(E) dlown fish has developed tolerance to thesea
anemone's poison

19 According to the passage, adult clownfish would be
a adisadvantage if they were not associated with sea
anemones because the clown fish would.

(A) beincgpable of sexud transformetion
(B) bevulnerable to predators

(C) have no religble source of food

(D) haveto lay their eggsin the open

(E) face competition from other clown fish

20.1t can be inferred from the passagethat sex change
would have been less necessary for the down fish if
(A) the male down fish were larger than thefemae
(B) each sea anemone were occupied by severd
vaietiesof cdownfish
(C) many mature clown fish of both sexes occupied
each seaanemone

(D) juvenile down fish had a high mortdity rate
(E) both made down fish and femade downfishwere
highly territoria

21.The author mentions dl of thefollowing as

characteridtic of the "rigidly defined hierarchy”

(line 8) of the downHfish community EXCEPT:

(A) At any time only onefemae down fish can be
reproductively active

(B) The mature clown fish are monogamous

(C) The growth of down fishis synchronized

(D) The maximum number of clown fish isfixed

(E) There are equa numbers of mae juvenilesand
femde juveniles

22 Which of the following satements about newly hatched

clown fish can be inferred from the passage?
(A) They deveop rapidly
(B) They remain doseto the ssaanemoneoccupied

by their parents
(C) They are more senditive to chemical sgnasthan

are adult down fish.
(D) They are not protected by thelr parents
(E) They arelessvulnerableto predationthanare

adult fish.

23.Which of the following, if true, would be LEAST

consigtent with the author's explanation of the

advantage of hermaphroditism for down fish?

(A) The number of individuasin aclown-fish
community fluctuates significantly

(B) Adult clown fish frequently cannibdize their
young

(C) The seaanemone tolerates clown fish only during
agpecific gage of theanemoneslife cyde.

(D) Juvenile down fish rardly reechmeturity

(E) Clownfish communities are capeble of efficiently
recruiting solitary adult clown fish

Comparing designsin musc with visud designsrases
interesting questions. We are familiar with the eesy
transfers of terms denoting qualities from onefield to
another. Thebedic prodlem can be put thisway: canmusic

(5) soundtheway adesgnlooks? Thedemenisof music are
nat thesame asthose of peinting. They may beandogous
but to beandlagous isnat to beidenticd. Isit possble
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then, for the same broed charadteridticsto emergefrom
different perogptud conciitions?

(100 Twofadsebout therdation betwean broed dheradaidics
of awork and thar perogpiud conditions must be kept
dsind. Frg, thegobd charadaidicsof aviaud or
auditory complex aredeiemined by the disoarnibleparts
and thar rdaionships Thus any natsblechangeinthe

(15) patsor ther rdaiondhips producesachangein some of
thegabd charadteridics Seocond, achangeinthepartsor
their rdationships mey leave ather gobd charadteridics
unchenged.

24.In thefirgt paragraph, the author isprimerily concerned
with establishingthe fact that
(A) comparisons are not equitions
(B) auditory phenomena are not visud phenomena
(C©) frequently used comparisons are usudly inaccurate
(D) cardess perceptions result from careless thought
(E) questions concerning perception arepsychological

25.In the passage, the author is primarily concerned with
(A) digtinguishing mutually exclusive categories
(B) darifying an apparent contradiction
(C) supporting new idess
(D) andyzing aproblem
(E) comparing opinions

26.The second paragraph is primarily concerned with

establishing the ideathat

(A) different globa characterigtics of awork result
from the same discernible parts

(B) the parts of awork of art influencethetota
perception of the work

(C) visud and auditory characterigics canbe
combined

(D) changesin the parts of awork remain isolated
from thework asawhole

(E) thevisud complexesin awork of art influence
the work's auditory complexes

27.Which of the following satementsismogt likely
be a continuation of thepassage?
(A) The search for broad similarities thus beginsby
understanding and digtinguishing these two facts
(B) The search for musical-visud andogiesthus
depends on the complexity of the works being
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compared.

(C) The search for music and art of thehighest qudity
thus depends on very different assumptions

(D) Thus mudic and painting exist in mutudly
excdlusveworlds.

(E) Thus music and painting are too complicated to
be evduated in terms of andogies.

28.COMPRESSION:

(A) increase in volume
(B) change of dtitude
(C) loss of gahility

(D) aosence of matter
(B) lack of motion

29.REFINE:

(A) loosen

(B) obscure

(C) dedtabilize
(D) decreasesize
(E) reduce purity

30BALK:

(A) extend

(B) derive

(C) obsarve

(D) plan aheed carefully
(E) move ahead willingly

3LANTIPATHY:

(A) affection
(B) courtesy
(C) exagperdion
(D) obstinacy
(E) cynicism

32 PATHOLOGICAL:

(A) acute

(B) normal
(C) adequate
(D) varidble
(B) temporary

33.REIN:

(A) prod
(B) as=ss
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(© enguif
(D) commend
(E) afirm

3A.MELLIFLUOUS:
(A) obtuse
(B) ineffable
(C) raspy
(D) deranged

(E) uproarious

35.IMPUGN:
(A) abandon
(B) anticipate
(C) enddle
(D) daify
(E) endorse

36.PERTINACITY:
(A) lighility
(B) smplicity
(C) vadillaion
(D) eccentricity

(E) misrepresentetion

37GAINSAY:
(A) spesk kindly of

(B) tell thetruth about

(C) forecadt
(D) afirm
(E) reiterate

38. ABSOLUTE:
(A) inferior
(B) tolerant
(©) qudified
(D) preliminary
(E) immessurable

SECTION 6
Time-30 minutes
30 Quedtions

Thescde used onacetan mapis % inch =12 miles

1. The number of miles 72
represented by 2 inches
onthemap

2. The number of pogtive The number of pogtive
divisors of 24 divisors of 50

Xy =4
3 (&) 24

X isan integer greater than 500

4. The vdue of the integer 200
formed if the order of the
digits in xisreversed

A man drove his automobile 10 kilometersin 10 minutes
and then drove an additiond 15 kilometersin the next 10
minutes.

5. His average speed during 50 kilometers per hour the
20-minutedrive

y>Oad >0

In the rectangular coordinate plane, (x,y) represents a point

with coordinates xand y.
8. The digance betwean The digance bewean
the points (1,3) and The points(2,3)and
a4 )

5n+2="h-3
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)
AT is a diameter of the circle above

10.Themesaredfs RUT Themessred® RVT

11. 2™ 2™

a=1—(-1), for positive integersk
nisa podtive integer

2 isthe center of & circle of radius ¢

13. OP

-

14. Theratio of the areaof

a|lw

acircular region with

diameter 3tothearea
of acircular region with
diameter 5

SURVEY OF PETS IN HOUSEHOLDS
AN APARTMEMNT COMPLER

kind of Pet Furmber of Households
Ciog 26
Coat 41
Other 149
Mo Pet 44
15. Thetota number of 85
householdswith
a least one pet

16. If 14 percent of an amount of money is $420, then 10
percent of the same amount is

(A) $224
B) $2H
(© $300
(D) $378
(B) $400

K +—

_ S

TR

Vv

17. Inthe equation aove Kk, r, s t, and v represent positive
numbers. Multiplying which one of these numbersby 2

will reduce thevaue of nto % of its present vaue?

(A)k B)r © s
(D)t Bev

18. There are Sx marked points on the cirdle above. How
many different lines can be drawn thet contain two of the
marked points?

(A)5
(B) 6
©12
(D) 15
(B) 30
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(E) 44 degrees Fahrenheit
50/ m 22. If the actudl temperatureis 13 degrees Fahrenheit and the
/ wind speed is 14 miles per hour, then the gpparent
2 % temperature could be
(A\) 5 degrees Fahrenhat
19. Inthefigure above, if mlk and s=t +30thent = (B) -12 degrees Fehrenhelt
(C) -20 degress Fahrenheit
A) 30 (D) -25 degrees Fahrenheit
(B) 60 (E) -32 degrees Fahrenheit
© 7
(D) 80 23. If the actud temperatureis 30 degrees Fahrenheit and the
(E) 105 gpparent temperature due to the wind-chill factor isO
degrees Fahrenheit then the wind speed in miles per hour,
20. On the red number line, which of thefollowing is must be between
hafway between -34 and 5.2?
(A)0.9 (A)5and 10
(B)1.2 (B)10and 15
(©18 (©15and 20
(D)2.2 (D)20and 25
(B) 43 (B)25ad 30
APPARENT FAHRENHEIT TEMPERATURES DUE 24. At awind speed of 30 miles per hour, it the actud
TOWIND-CHILL FACTOR temperature increases by to degrees Fahrenhet thenthe
(corresponding to actual temperatures and wind speeds) gpparent temperature increases by goproximately how
many degrees Fahrenheit?
WIND ACTUAL TEMPERATURES (A) 5
SPEEDS [degrees Fahrenhet) (B) 7
(miles per
hour) a0 [0 i 70 | 30 (€10
5 5 | 5 7 i[5 7 (D) 15
i5 w5 |G |3 e () 20
2 o R B B B 25. Which of the following can be inferred from the table?
%g :g;{ :gg gg gg ::21 | The goparent temperature for an edu.d .
40 B9 | -53 37 21 | -A temperature of 20 degrees Fahrenheit and awind
seed of 15miles  per hour isthe same asthat
for an actud temperatrue of 60 degrees
21. If the actud temperatureis 20 degrees Fahrenheit and the Fahrenheit and awind speed of 40 miles per hour
wind spead increases from 5 miles per hour to 40 miles Il At a condant wind speed as the actud
per hour, what isthe corresponding decrease in the temperature increases the difference between the
gpparent temperature? actua and the gpparent temperatures dso
increases
(A\) 5 degrees Fahrenhet Il At a condant actud temperature of -10 degrees
(B) 24 degrees Fahrenheit Fahrenhet the gpparent temperature decreases &
(C) 32 degrees Fahrenheit acondant rate as the wind speed increases
(D) 37 degrees Fahrenheit (A) I only
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(B) Il only © 3
(© I'and 11l only 7
(D) Il and 111 only ) 4
E) 1, landlll 7
3
26 If the sum of two positiveintegersis 43 and the ®
difference of their squaresis 43, then the smdler integer
is 30. A certain money market account that had abaance of
A) 17 $48,000 during dlof last month earned $360 in interest
B) 19 for the month. At what Smple annudinterest rate did the
© 20 account earn interest last month?
D) 21 (A) %
B 22 (B) 7.5%
© 8%
27. To obtain an FHA mortgage for $50,000 or more, the (D) 85%
home buyer must have adown payment equd to 4 B %

percent of the first $25,000 of the mortgage amount and
5 percent of the portion in excess of $25,000. At
stlement the buyer pay amortgage insurance premium
equa to 3 percent of the mortgage amount. What isthe
maximum FHA mortgage, if any abuyer can obtain if
the buyer has only $6,000 available for the down
payment and insurance premium?

(A) $62,500

(B) $71,875

(©) $78125

(D) $125,00

(E) The home buyer cannot obtain an FHA mortgage

28. If two sdes of atriangle have lengths 3.2 and 5.4 then
the length of the third side must be between
(A) 00ad 22
(B) 22and 54
(©) 22and 86
(D) 32ad54
(BE) 54 and 86

29. The oddsthat a certain event will occur istheratio of the
probability that the event will occur to the probability
that it will not occur. If the odds that Pat will win aprize
are4to 3, what isthe probaility that Pat will not win the
prize ?

1
(A) 2

1
B 3
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SECTION 7
Time 30 minutes
25 Quedtions

Quedtions 1-7

Seven pedigreed dogs—Frieda, King, Laddie, Max., Pd,
Soot, and Toppy—are entered in adog show. The dogs
must be scheduled into seven consecutive time dotsfor
judging, and only one dog can be scheduled into any time
dot. The schedule must be basaed on the following
congraints.

Frieda cannat be in atime dot immediaey before or
immediatdy after Max'stime dot

Laddie cannot bein atime dot immediatdy before or
immediatdly after Toppy'stimedat.

Pd'stime dot must be sometime before Spot'stime
dot.

King mugt bein the seventh time dot

1 If Pd and Max are the third and fourth dogs judged,
respectively, Friedamust be scheduled for atime dot
sdected from which of the following pairs of dots?
(A) First and second
(B) Firgt and sixth
(©) Second and fifth
(D) Second and sixth
(EB) Fifthand sixth

2. Which of thefollowing is an acceptable sequence of
dogsin thefirgt four time dots?
Fird¢  Second Third  Fourth
(A) Frieda Pa Toppy Laddie
(B) Laddie Spot Toppy Pd
(©) Max Frieda Pa oot
(D) P4 Frieda Laddie King
(E) Toppy Max Pal Laddie

3.Any of the following can be the sixth dog judged
EXCEPT
(A) Frieda
(B) Laddie
(C) Max
(D)Pd
(E) Spot

4. If Pd isthefirg, Laddiethethird, and Fried --------
fifth dog judged, which of the following must be
true?

(A) The remaining dogs can be acceptably scheduled
in either of exactly two ways

(B) Theremaining dogs can be acceptably scheduled
in only oneway.

(C) Max isjudged immediatdy before King

(D) Spot isjudged immediately before Laddie

(E) Toppy isjudged immediatdly before Frieda

5.If thefirdg three dogs judged are Max, Pd, and
Frieda, respectively, which of the following must
betrue?
(A) King isthe sxth dog judged.
(B) Laddie is the fourth dog judged.
(C) Spoat isthefifth dog judged.
(D) Toppy isthefifth dog judged.
(BE) Toppy isthe sxth dog judged.

6.If Laddie is the fourth dog judged, Toppy canbe
scheduled into any one of how many different time
dots?
(A) Two
(B) Three
(C) Four
(D) Five
(B) Six

7.1f the schedule includes Laddie sometime before Pd and
Pd sometime before Max, which of the
following mugt be true?
(A) Laddie isin one of thefird threetime dots.
(B) Max isin one of the lagt three time dots
(C) Pd isin one of thefird threetime dots
(D) Spotisin thetime dot immediady after Max
(E) Toppy isinthetime dotimmediatdy after Max

8. New regulations in Mullentown require manufac-
turersthereto develop five-year pollution-reduction
plans. The regulaions require that each manufacturer
develop adetaled plan for reducing its released pot
lutants by at least 50 percent. Clearly, theregulations
will not result in significant pollution reduction, how-
ever, Snce the regulaions do not force manufacturers
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to implement their plans.

Which of thefollowing, if true, mogt weskensthe

argument?

(A) Mullentown's manufacturing plants are not the
only source of pollution there.

(B) Detailed planswould reved that measuresto
reduce released pollutants would aso reduce
manufacturers cogsfor materids, waste
disposd, and legd sarvices

(C) Pollutants that manufacturing processes cregte
but thet are not rdleasad directly into the
environment must nonetheless be collected
and prepared for disposa

(D) Any reductionsin pollutants released from
Mullentown's manufacturing plants would
not be noticesble for a leadt five years.

(E) Each manufacturer will be required to submit its
plan to a committee gppointed by Mullentown's
officids.

9. Not Scored

10. To produce seeds, plantsmust firgt produce flowers.
Two kinds of tarragon plants, Russan tarragon
and French tarragon, look very smilar except thet
Russian tarragon produces flowers and French tar -
ragon does not. The leaves of Russian tarragon,
however, lack the digtinctive flavor that makes
French tarragon adesrable culinary herb

If the information presented is true, which d the fok

lowing can mogt reliably be concluded on the basis

of it?

(A) Asadecorative plant, French tarragon ismore
desirable than Russan tarragon.

(B) Theflowers of Russian tarragon plants are prob-
ably not flavorful.

(C) Pantsthat grow from seeds sold in a packet
labeled "tarragon” are not French tarragon.

(D) There are no other kinds of tarragon besides
Russian tarragon and Frenchtarragon

(E) Garden plantsthat have flavorful leaves generdly
do not produce flowers.

Quedions 11-16

A higorian is attempting to recongtruct the locations

of five volcanic idands—Kappa, Lambda, Mu, A, and
Omega—that once exiged off the coast of Pendopia On
the badis of historical documents, the historian has estab
lished that the five idands were aranged in agraight line
running north to south. The historian dso discovered the
following:

Lambda was located immediately north of Pi.
Omega and kappa were immediady adjacent to
each other.

Mu was located somewhere north of Lambda

11. Thefiveidands could have been arranged in which
of the following north-to-south orderings?
(A) Kappa, Mu, Omega, lambda, Pi
(B) Lambda, P, Omega, Kgppa, Mu
(C) Mu, Kappa, Omega Lambda Pi
(D) Mu, A, lambda, Kgppa, Omega
(E) Omega, Mu, Lambda, A, Kappa

12.If Mu was located immediatdly north of Omega,
which of thefollowing must be true?
(A) Kappawas the southernmost of the idands.
(B) Lambda was the northernmogt of theidands
(©) B was the southernmogt of the idands.
(D) Omegawas the northernmost of theidands
(E) Omegawas the southernmodt of the idands

13.1f Omega was located samewhere north of Mu, which
of thefallowing must be true?
(A) Keppawas located immediately north of Mu.
(B) Mu wes located immediatdly north of Lambda
(C) Omegawas located immediately north of Mu.
(D) Kgppawes locaed immediatdy north of Lambda
(B) Muwas located immediatdly north of P

14.Which of the following is a complete and accurate
lig of theidands any one of which could bethe
idand that was northernmost?
(A) Kagppa, Lambda
(B) lambda, Mu
(©) Mu, Omega
(D) Kappa, Lambda, Omega
(B) Kappa, Mu, Omega
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15.1f Mu is discovered to have been the northernmost of
the idands, there remain how many possible arange
ments any one of which could have been the higtori-
cdly accurate arrangement of theidand?
(A)2
(B)3
©4
(D)5
B)6

16.1f Mu was adjacent of Kappa, which of the following
must betrue?
(A) Kgppawas located somewhere north of Mu
(B) Lambda was located somewhere north of Omega
(C) Mu was located somewhere north of Kgppa
(D) Mu was located somewhere north of Omega
(B) Omega weas located somewhere north of Lambda

Questions 17-22
Sx dubs—F, G, H, J K, and L—have applied for

funding from the student council. The council cannot
fund dl six dub immediately. Unfunded dubsgo ona
waiting list and will be funded, in the order in which they
gppear on that lig, as money becomes available. Funding
decisons are subject to the following condraints

No more than three clubs can be funded immediaely.

L can be funded neither before F is funded nor
before G isfunded.

If Jisassigned to the waiting lig, K must dso be
assigned to thewaiting ligt.

H mugt be on thewaiting ligt.

17.Which of the fallowing could be acomplete and
accurate lit of the unfunded clubsin the order in
which they initidly gppear on the waiting lig?
A FEK,LH
B)H,FL,J
©H,K
D)L, HF
BLJIK

18.If K receivesimmediate funding, which of the fol
lowing clubs must aso receive immediate funding?
(AF
(B)G
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OH
D)J
BeL

19If Gisthethird dub on the waiting ligt, which of the

following must be true?

(A) Exactly one club recaivesimmediate funding.
(B) At mogt two dubs receive immediate funding.
(C) Three clubsrecaiveimmediate funding

(D) H isahead of G on thewaiting list

(B) L isafter H on thewaiting list

20.Which of the following could be acomplete ligt of the

clubsthet the student council fundsimmediately?
A)FG,JadL

B)F, G adK

©FJandL

(D) Gand H

BJ

211f K receivesimmediate funding and L is the second

cub onthewaiting list, which of the following must
betrue?

(A) Exactly two clubs receive immediate funding.
(B) F and G haoth recaive immediate funding.

(©) Fisfird on thewating list.

(D) Gisfirg on the waiting ligt.

(B) H isthird on the waiting ligt.

22.f both F and Jare on the waiting list, which of the

following must be true?

(A) No more than one dub receivesimmediate funding.
(B) Two dubs receive immediate funding

(C) Gisdither firg or second on the waiting list

(D) Hislest on thewaiting list

(BE) K isahead of L onthewaiting list

23. Inthe United States, the financing of indudtrid

research by private indudtrid firms remained steady
as a percentage of sdes during the period between
1968 and 1978 (after correcting for inflation). But
dowdownsin the growth of industrid productivity
aso occurred during thet period, afect that refutes
the notion that the growth of industrid productivity
isdirectly proportiond to the amount invested in
indugtria research.
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Which of the following, if true for the United States,

most weekens the argument above?

(A) Federd funds, which condtituted asignificant
portion of the support for industrid research
from 1968 to 1978, fdl annudly and substan-
tialy during that period.

(B) Theinflation that occurred between 1968 and
1978 was more severe than leading economists
had expected.

(©) Indusdtrid executives generdly favor investing an
gopreciably larger portion of corporate fundsin
short-term product devel opment than in basic
research.

(D) The stientists and engineers who worked in
industry from 1968 to 1978 were, as agroup,
more experienced in their jobs than were those
who worked in industry during the previous
ten-year period.

(E) Corporate financing d indugtrid reseerch
increased in severd of the years immediaidy
following 1978 (after correcting for inflation)

24. Although many brands of gasoline are sold on Halbel
Idand, gasolinecompanies there get dl of the refined
gasoline they sdll from Haibel segport'sonly storage
tank, which is dways refilled with the same qudity
of gasoline. Therefore, the brands of gasoline of sde
on Habel may be different in name and price, but
they areiderticd in qudlity.

The condlusion drawn above depends on which of the

following assumptions?

(A) Consumers are usudly unaware of variations
in the qudlity of the gesoline they buy unless
those varidions are announced by the gasoline
companies.

(B) When tankers make gasoline ddiveries a
Haibel's segport, the sorage tank on Halbe
aways receives the same quantity of gasoline
asthat in the preceding ddlivery.

(C) Thereisawide variation in the prices & which
the different brands of gasoline on Haiba are
sold.

(D) If any gasoline company on Halbel dtersthe
qudlity of its gasoline before sale, the other

gasoline companies a0 use methods before
sdethat result in the same changein the
quality of their gasoline .

(E) The gasoline sorage tank on Habe islarge
enough to meet the needs of dl of Halbel's
different gasoline companies.

25.A group of paintings made approximately 15,000 years
agoin acavein the Loire River vdley inwhat isnow
France depicts anumber of different animas. One of the
animals depicted seemsto resemblethe chiru, arare
antelope of the Himalayas.

Which of thefollowing, if true, best supports the hypath-
essthat in panting the animd that resemblesachiru
the cave artigt painted a chiru with which she or hewas
familiar?

(A\) There are numerous representations of imaginary
animasin cave pantings of Smilar age

(B) Fossilized remains of a chiru, approximately 16,000
years old, have been found at the northern end of
the vdley.

(C) The cave thet contains the depiction of an animd
that resembles a chiru contains stylized repre
sentations of plant life

(D) Older cavesfrom the same region contain no repre
sentations of animalsthat resemble achiru.

(E) The antlers of the animd in the painting are longer
than those of the mature Himalayan chiru
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